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Abstract: This paper briefly compares Group Member states of GCSE_LTE and User states of MCPTT and proposes to harmonise them.
MCPTT currently is using a different way of describing the status of a user in a group - it defines the states Authorised User, Affiliated User and Active User.
These are currently defined in 22.179 in the following way:

authorised user: An MCPTT User who has been authorised to participate in a particular MCPTT service. 

affiliated user: An Authorised User who has expressed interest in participating in the particular MCPTT service that he has been authorised for.

active user: An Affiliated User who is participating in the particular MCPTT service that he has been authorised for.

Note: 22.179 in many place uses the term “participant” instead of “user” which is assumed here to be the same. 
For GCSE_LTE, SA1 had spent quite some effort to define the states of Group Member, Receiver Group Member and Transmitter Group member.

These are defined in 22.468 in the following way:

Group Member: A user assigned to a GCSE Group.
Receiver Group Member: A Group Member of a GCSE Group that has interest expressed in receiving ongoing or future Group Communications of that GCSE Group.
Transmitter Group Member: A Group Member of a GCSE Group that is authorized to transmit an ongoing or future Group Communications for that GCSE Group.
Below a graphical comparison of the two models.
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The similarity of the two models is obvious, even though a state change from Affiliated User to Active User is missing in the MCPTT model, it is only mentioned in the definition, but there is no corresponding requirement.  Furthermore 22.179 does not make active use of the term Affiliated User but it seems in this case the term “Receiving participant” is being used which seems to be similar to the Receiver Group Member of GCSE_LTE. Reading the requirements in 22.179 it seems obvious the Authorised User being the same role than the Group Member in GCSE_LTE and it also seems Active User can be mapped to Transmitter Group Member of 22.468.
In the lights of this it is proposed not to use new terms in MCPTT but to use already existing terms defined in GCSE_LTE to avoid ambiguity and potential misunderstandings. If this is acceptable the MCPTT TS should also make use of the other terms defined in GCSE_LTE where applicable, e.g. to refer to “GCSE Group(s)” instead of referring to PTT groups.
If using the terms from GCSE_LTE is not acceptable, the relation between the two models needs to be clarified urgently as GCSE_LTE is one cornerstone of MCPTT. 

